
Installation Instructions | Industrial Lighting

DYNAMO 3 PRO STADIUM FLOOD LIGHT

IMPORTANT SAFEGUARDS

INSTALLATION INSTRUCTION

PLEASE FIND A QUALIFIED ELECTRICIAN FOR INSTALLATION.
PLEASE READ THE INSTRUCTIONS BEFORE YOU INSTALL AND USE THE LUMINAIRE.
GENERAL: ALL ELECTRICAL CONNECTIONS MUST BE IN ACCORDANCE WITH LOCAL AND NATIONAL ELECTRICAL CODE
(N.E.C.) STANDARDS. IF YOU ARE UNFAMILIAR WITH PROPER ELECTRICAL WIRING CONNECTIONS OBTAIN THE SERVICES OF 
A QUALIFIED ELECTRICIAN. REMOVE THE TRIM FROM THE BOX AND MAKE SURE THAT NO PARTS ARE MISSING.

WARNING - Risk of fire or electric shock. Installation requires knowledge of luminaire's electrical systems. If not qualified, do not attempt 
installation. Contact a qualified electrician.

WARNING - Risk of fire or electric shock. Install luminaires that have the construction features and dimensions shown in the 
photographs and/or drawings and where the input rating of the does not exceed the input rating of the luminaire.
Do not make or alter any open holes in an enclosure of wiring or electrical components during installation.

WARNING- To prevent wiring damage or abrasion, do not expose wiring to edges of sheet metal or other sharp objects.

Risk of Electric Shock: Disconnect power or circuit breaker before installing or servicing.

Before installation, please check if the local voltage range is in correspondence with the working voltage of the fixture.
If the fixture is damaged, it should be replaced by the supplier, a service agent or a qualified person.

! WARNING DISCONNECT POWER BEFORE INSTALLING OR SERVICING.

Pg. 1*©IKIO LED LIGHTING. Unauthorized use or reproduction of illustrations, photographs or text is prohibited.
IKIO LED LIGHTING reserves the right to discontinue products or to change the technical and/or design specifications at any time.

Website : www.ikioledlighting.com
Phone : (1) 844-533-4546

Email : info@ikioledlighting.com 

A total of 5 screws
are required

1. Take the Visor from the box, align the mounting holes with
 the luminaire.

2. Take the Screw, fit visor (M4 screw Torque Values 2.5 N.m).

1. Drill holes at the marked points with
a 0.98” diameter electric drill bit.

2. Insert the M20 explosive bolt into the hole.

0.98”

30#

10

4

12.99”

6.299”

Ø
0.

86
” Ø

2.67” 0
.8

6
”

12.99-11.4”

6.299”
145

DIM+
DIM-
12V+

AC Cable

DIM Cable

1. Insert the strip holes at the bottom of the u-shaped metal frame of the lamp body into the ground bolts.
2. Ordinal with metal flat washers, spring washers and M20 nut will the lamp body is fixed on the ground. (M20 screw Torque Values 200 N.m).
3. Could be installed with one screw.
4. Loosen M16 hexagon head screw with wrench, adjust luminaire to designed angle (0-100O) tighten screws and fix the

luminaire (M16 screw Torque Values 114 N.m).
5.  Take the Screw, fit visor (M6 screw Torque Values 3.5 N.m).


